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QUESTION 1

When deploying BGPIMPLS IPVPN, when two VPNs have a common site, the common site must not use overlapping
address space with other sites of the two VPNs. 

A. True 

B. False 

Correct Answer: B 

 

QUESTION 2

Senior engineers with rich experience can quickly solve faults only by experience, with high efficiency. 

A. True B. False 

Correct Answer: A 

 

QUESTION 3

As shown below: 

A. R3andR1ofIS-LevelMismatch 

B. R3andR1different area codes 

C. R3andR1ofIIHAuthentication failed 
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D. R3andR1ofSystem 

Correct Answer: C 

 

QUESTION 4

An engineer uses two routers to test IPv6 services, and runs 0SPFv3 to implement IPv6 network interconnection. R1 is
required to be able to access the loopback interface address of R2. The engineer checked the OSPFv3 routing table
entry of R1, as shown in the figure, and found that there was no route to the loopback interface address of R2. Which of
the following reasons could not be the cause? 

A. R2 advertises the loopback interface into different OSPFv3 processes 

B. R2 does not have 0SPFv3 enabled on the loopback interface 

C. R2 does not use network to advertise loopback address in area 0 

D. R2 is not configured with the Router ID used in the OSPFv3 process 

Correct Answer: B 

 

QUESTION 5

H12-831 VCE Dumps | H12-831 Practice Test | H12-831 Study Guide                                3 / 4

https://www.geekcert.com/h12-831.html
https://www.geekcert.com/h12-831.html
https://www.geekcert.com/h12-831.html


https://www.geekcert.com/h12-831.html
2024 Latest geekcert H12-831 PDF and VCE dumps Download

From this figure, it can be known that A. R1access172.17.1.5There is a loop 

B. R1have access172.17.1 5routing 

C. R1no access172.17.1.5routing 

D. R1access172.17.1.5There is no problem with the path 

Correct Answer: AB 
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